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X+ 7 + 18x+ 40

x> — 3x — 46x + 168

X + 9% + 15x + 56

X — 17x% + 90x — 144

X — 14x° + 63x — 90

Aagull NGBS

49x° — 148x + 96

X — 6x + 9x — 20

X — 8x> — 65x + 504

X + 4 +x+30

X —2x" —9x+ 18
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AaSall 3 gaal) 30axia Jul e Jalas
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¥+ 7 + 18x + 40
(x+ 5)(0% + 2x + 8)

x> — 3x — 46x + 168
(x—4)x+7(x—06)

X + 9% + 15x + 56
(x+ 8)(0% +x+7)

X — 17x% + 90x — 144
(x—3)x—8)(x—6)

X — 14x° + 63x — 90
x—=3)x—5)(x—6)

EEN NG BL

49x> — 148x + 96
(7x— 8)(x + 2)(7x — 6)

X — 6x% +9x— 20
(x— 35 —x+4)

x> — 8x% — 65x + 504
x—=9)x—7)(x+ 8

X+ 4 +x+30
(x+ 5)(* —x+ 6)

X =2 —9x+ 18
(x+3)x—2)(x—3)
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